CamocroaTenbnas padora 3.4
Jlorapupmuyeckne ypaBHeHHs!
Bapuanr 1

1. Beiunciiure: logs343.

2. Peluute ypaBHEHUS:

a) log,(x+4)=log,(2x-1) ; 6) log,(x-3)=4.
B) Ig(x—1)+Ig(x-2,5)=1; r) logs(f—2x+4):log5(2x3+5x+10).

3. Haiiiure HanMeHbIIHI KOpeHb ypaBHeHus log (x2 +4x+ 12)= 2.

Camocrositeinas padora 3.4
Jlorapudpmuyeckne ypaBHeHus!
Bapuant 2

1. Beruncimre: logs2 + logael3

2. Pemure ypaBHenus:
a) log,(2x+10)=log,(6x-2); 6) logs(5x—1)=2.

B) log:(2x+1)+log;(16x-7)=3 ;: 1) log,(5x+1)—log,(x+1)=1.

log: x—log, x—2 B

3. Haiinure uenslit kopeHb ypaBHeHHs I

log, x+1



